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The mean (Expectation) (L), The variance (O 2) , The standard deviation (O),
The coefticient of correlation (r) .
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If Z is a standard normal variable such that : Ul B bt ans ~p OIS 134
P(—a<Z<a)=0.874,thena=......... ZAVEL (P> 0 2 Vi€ oy
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From the data of the following table:
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Find Sperman’s rank correlation coefficient

between the two variables X and Y and determine

its type .
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R) Find the mean and the standard deviation of the oo bl Bl asYly Jaw gzl dsms
rgndgm yariable X from the following probability . u_';St\ Syl e 5sd)
distribution:
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n In the experiment for tossing a regular coin twice, Oy dekatie 555 dalad L\ &y 2 B

the probability of appearing a Tail in the second toss BB s Szt ¢ adls
if a Head appears in the first toss equals : ............ AoV $5) g0 o yedo 13) AW As N
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If X is a normal random variable whose mean (1) | Uan Bl g sie (joiie e O 13

and its standard deviation (¢ ), O kel @ sty W alan sie
thenB¢X'Zp+150)= ...} (G, 0+ ~) J b
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E Answer only one item from the items of this P ol = LS
questions : (al=" X v g
If: Yx=6,Yy=21,%x*=76,%y*=91, X xy=56andn=6 1= 01z e v &

4 (fi h 1 i b pevvi) (NP (JENCR VPN L)
Find : (first) The correlation coefficient between ) LA Lalas K
the values of X and Y O SV Jelae dosl 1Y

(second) The regression line equation Y on X S
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If D is the difference between the ranks of each oAl e A 2 8 O]
corresponding values of the two variables X and Y, 02 ¢ o o2 esizal) 5 o)
Y D? = 0 ,then the correlation coefficient N
(1) between X and Y equals ............ L alas 0 o =" 3L
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A box contains five identical cards numbered from

1 to 5. Two cards are drawn one after another with

replacing. Find the probability:

i) The sum of the two numbers on the two cards is
a prime number.

i) The product of the two numbers on the two
cards is less than seven if their sum is a prime
number.
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n If X is a continuous random variable whose prob-

ability density function is:
x+1

f@)= {7

Zero

Find: (i) P(x < 2)

,0 <x <4

,otherwise

(i) P(2 < x < 5)
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If P(A|B)= %,P(B):%,

then P (ANB) =
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If X is a discrete random variable whose range is
{0,1,2} ,then all of the following functions does
not represent its probability distribution function

except the function

@ Fx) = x28+1
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@ f(X) i 3x6+1
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Answer only one of the following items:

A) If X is a normal random variable whose mean
w =15 and its standard deviation ¢ = 5 such
that P (X <k ) =0.1587, then find the value
ofk

B) If the lengths of 1500 students follow a normal
distribution whose mean is 175 em and its
standard deviation is 5 ¢cm, find the number of
students whose lengths are more than 180 cm.
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If A and B are two independent event such that : ;089 alits il o PS5
P(A)=0.2,P(B)=0.6,then P(AUB) =............ QB 1=(Q)d ¢ ,r=h)Y
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